Mul	tinl	ying	hv	14 (	(A)
IVIU	ւսթյ	. y 1115	Uy	<b>T</b> T (	$(\mathbf{A} \mathbf{A})$

Name:	Da	ite:	Score:
	Calcul	ate each product.	
$3 \times 14 =$	13 × 14 =	$3 \times 14 =$	$10 \times 14 = \square$
$4 \times 14 =$	8 × 14 =	$5 \times 14 =$	$5 \times 14 = \square$
$10 \times 14 = \boxed{}$	9 × 14 =	1 × 14 =	11 × 14 =
$11 \times 14 = \square$	$7 \times 14 =$	9 × 14 =	$1 \times 14 =$
$13 \times 14 = \square$	$11 \times 14 = \square$	$8 \times 14 =$	$2 \times 14 = \square$
$14 \times 14 = \boxed{}$	$3 \times 14 =$	$13 \times 14 = \boxed{}$	6 × 14 =
$6 \times 14 =$	$2 \times 14 =$	$8 \times 14 =$	13 × 14 =
$5 \times 14 =$	$14 \times 14 = \square$	$10 \times 14 = \square$	$12 \times 14 = \square$
$12 \times 14 = \square$	$9 \times 14 = \square$	$14 \times 14 = \square$	$14 \times 14 = \square$
$1 \times 14 =$	$8 \times 14 =$	9 × 14 =	13 × 14 =
$9 \times 14 =$	$4 \times 14 =$	$5 \times 14 =$	$14 \times 14 = \square$
$8 \times 14 =$	13 × 14 =	$6 \times 14 =$	$7 \times 14 = \square$
$2 \times 14 =$	$12 \times 14 = \square$	$7 \times 14 =$	6 × 14 =
$7 \times 14 =$	$1 \times 14 =$	$11 \times 14 = \boxed{}$	$2 \times 14 = \square$
$14 \times 14 = \square$	$6 \times 14 =$	$2 \times 14 =$	$1 \times 14 =$
$7 \times 14 =$	$10 \times 14 = \square$	$13 \times 14 = \boxed{}$	$4 \times 14 =$
$2 \times 14 =$	$5 \times 14 =$	$3 \times 14 =$	8 × 14 =
$12 \times 14 = \boxed{}$	$7 \times 14 =$	$4 \times 14 =$	$11 \times 14 = \square$
$1 \times 14 =$	$10 \times 14 =$	$12 \times 14 = \boxed{}$	$3 \times 14 =$
$11 \times 14 = \boxed{}$	$11 \times 14 = \square$	$1 \times 14 =$	$5 \times 14 = \square$
$5 \times 14 =$	$2 \times 14 =$	$3 \times 14 =$	9 × 14 =
$3 \times 14 =$	$6 \times 14 =$	$8 \times 14 =$	$12 \times 14 = \square$
$4 \times 14 =$	$14 \times 14 = \square$	$4 \times 14 =$	$10 \times 14 = \square$
$10 \times 14 = \boxed{}$	$12 \times 14 = \square$	9 × 14 =	$2 \times 14 = \square$
$6 \times 14 =$	$4 \times 14 =$	$7 \times 14 =$	$12 \times 14 = \square$

# Multiplying by 14 (A) Answers

Name:	Date:	Score:
	Calculate each product.	

Mul	tip	lying	bv	14	(B)
IVI	LLIP.	' <i>J</i> 5	$\boldsymbol{\mathcal{O}}_{\mathcal{J}}$		$(\mathbf{L})$

Name:	Date	e:	Score:			
Calculate each product.						
$14 \times 14 = $	6 × 14 =	$5 \times 14 =$	9 × 14 =			
$2 \times 14 =$	$7 \times 14 =$	$9 \times 14 =$	3 × 14 =			
$4 \times 14 =$	11 × 14 =	$2 \times 14 =$	$4 \times 14 =$			
$8 \times 14 =$	8 × 14 =	$13 \times 14 = \square$	$10 \times 14 = \square$			
$7 \times 14 =$	9 × 14 =	$8 \times 14 =$	14 × 14 =			
$10 \times 14 = $	4 × 14 =	$14 \times 14 = \square$	11 × 14 =			
$11 \times 14 = $	1 × 14 =	$7 \times 14 =$	13 × 14 =			
$1 \times 14 =$	$12 \times 14 = \square$	$12 \times 14 =$	$2 \times 14 =$			
$12 \times 14 = $	5 × 14 =	$2 \times 14 =$	8 × 14 =			
$5 \times 14 =$	$10 \times 14 = $	$10 \times 14 =$	$10 \times 14 = \square$			
$13 \times 14 = \boxed{}$	$7 \times 14 = \square$	$13 \times 14 = \square$	12 × 14 =			
$3 \times 14 =$	11 × 14 =	$14 \times 14 =$	6 × 14 =			
$6 \times 14 =$	13 × 14 =	$1 \times 14 =$	14 × 14 =			
$9 \times 14 =$	$3 \times 14 =$	$5 \times 14 =$	2 × 14 =			
$1 \times 14 =$	14 × 14 =	$8 \times 14 =$	$7 \times 14 =$			
$8 \times 14 =$	$2 \times 14 = \square$	$3 \times 14 =$	11 × 14 =			
$2 \times 14 =$	$6 \times 14 =$	$11 \times 14 =$	$3 \times 14 =$			
$4 \times 14 =$	$10 \times 14 = $	$4 \times 14 =$	8 × 14 =			
$9 \times 14 =$	$4 \times 14 =$	$6 \times 14 =$	4 × 14 =			
$5 \times 14 =$	1 × 14 =	$9 \times 14 =$	9 × 14 =			
$3 \times 14 =$	$6 \times 14 =$	$7 \times 14 =$	13 × 14 =			
$10 \times 14 = \boxed{}$	$12 \times 14 = $	$1 \times 14 =$	1 × 14 =			
$13 \times 14 = \boxed{}$	3 × 14 =	$6 \times 14 =$	5 × 14 =			
$14 \times 14 = \boxed{}$	11 × 14 =	$5 \times 14 =$	$10 \times 14 = \square$			
$12 \times 14 = \boxed{}$	$7 \times 14 =$	$12 \times 14 = \square$	$5 \times 14 =$			

# Multiplying by 14 (B) Answers

Name:	Date:	Score:

#### Calculate each product.

 $12 \times 14 =$ 

98

168

 $5 \times 14 =$ 

70

 $12 \times 14 =$ 

168

M111	tin	lying	hv	14	(C)
mu	աք.	tymg	Uy	14	$(\mathbf{C})$

	Date:	Score:
Cal	culate each product.	
$6 \times 14 = [$	$14 \times 14 =$	$12 \times 14 = \square$
$5 \times 14 = [$	$12 \times 14 =$	$3 \times 14 =$
$12 \times 14 = [$	$13 \times 14 =$	$2 \times 14 = \square$
$9 \times 14 = [$	$5 \times 14 =$	$7 \times 14 = \square$
$14 \times 14 = \begin{bmatrix} 14 & 14 & 14 \end{bmatrix}$	$10 \times 14 =$	$10 \times 14 = \square$
$2 \times 14 = \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix}$	$6 \times 14 =$	$5 \times 14 =$
$6 \times 14 = \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix}$	$4 \times 14 =$	$6 \times 14 =$
$5 \times 14 = [$	$14 \times 14 =$	$13 \times 14 = \square$
$13 \times 14 = [$	$10 \times 14 =$	$4 \times 14 = \square$
$7 \times 14 = [$	$11 \times 14 =$	$13 \times 14 = \square$
$4 \times 14 = \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix}$	$3 \times 14 =$	$14 \times 14 = \square$
$11 \times 14 = [$	$1 \times 14 =$	$1 \times 14 =$
$10 \times 14 = [$	$2 \times 14 =$	$10 \times 14 = \square$
$12 \times 14 = [$	$13 \times 14 =$	$5 \times 14 =$
$1 \times 14 = [$	$8 \times 14 =$	$11 \times 14 = \square$
$8 \times 14 = $	$9 \times 14 =$	$3 \times 14 =$
$3 \times 14 = [$	$6 \times 14 =$	$9 \times 14 = \square$
$2 \times 14 = [$	$12 \times 14 =$	$4 \times 14 = \square$
$1 \times 14 = [$	$5 \times 14 =$	$6 \times 14 =$
$3 \times 14 = [$	$7 \times 14 =$	$8 \times 14 =$
$8 \times 14 = $	$1 \times 14 =$	$2 \times 14 = \square$
$7 \times 14 = [$	$8 \times 14 =$	$12 \times 14 = \square$
$9 \times 14 = [$	$14 \times 14 =$	$7 \times 14 =$
$11 \times 14 = [$	$9 \times 14 =$	$10 \times 14 = \square$
$4 \times 14 = \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix}$	$11 \times 14 =$	$12 \times 14 = \square$
		Calculate each product. $6 \times 14 =                                 $

# Multiplying by 14 (C) Answers

Name:	Date:	Score:
·		

#### Calculate each product.

$$1 \times 14 = 14$$
  $6 \times 14 = 84$   $14 \times 14 = 196$   $12 \times 14 = 168$   
 $9 \times 14 = 126$   $5 \times 14 = 70$   $12 \times 14 = 168$   $3 \times 14 = 42$   
 $5 \times 14 = 70$   $12 \times 14 = 168$   $13 \times 14 = 182$   $2 \times 14 = 28$   
 $2 \times 14 = 28$   $9 \times 14 = 126$   $5 \times 14 = 70$   $7 \times 14 = 98$ 

$$3 \times 14 = \boxed{42} \quad 14 \times 14 = \boxed{196} \quad 10 \times 14 = \boxed{140} \quad 10 \times 14 = \boxed{140}$$

$$7 \times 14 = \boxed{98}$$
  $2 \times 14 = \boxed{28}$   $6 \times 14 = \boxed{84}$   $5 \times 14 = \boxed{70}$ 

$$11 \times 14 = \boxed{154}$$
  $6 \times 14 = \boxed{84}$   $4 \times 14 = \boxed{56}$   $6 \times 14 = \boxed{84}$ 

$$12 \times 14 = 168$$
  $5 \times 14 = 70$   $14 \times 14 = 196$   $13 \times 14 = 182$ 

$$14 \times 14 = \boxed{196} \quad 13 \times 14 = \boxed{182} \quad 10 \times 14 = \boxed{140} \quad 4 \times 14 = \boxed{56}$$

$$6 \times 14 = | 84 | 7 \times 14 = | 98 | 11 \times 14 = | 154 | 13 \times 14 = | 182$$

$$8 \times 14 = 112$$
  $4 \times 14 = 56$   $3 \times 14 = 42$   $14 \times 14 = 196$ 

$$13 \times 14 =$$
  $\boxed{182}$   $\boxed{11 \times 14} =$   $\boxed{154}$   $\boxed{1 \times 14} =$   $\boxed{14}$   $\boxed{1 \times 14} =$   $\boxed{14}$ 

$$4 \times 14 = | 56 | 10 \times 14 = | 140 | 2 \times 14 = | 28 | 10 \times 14 = | 140$$

$$10 \times 14 = 140 \quad 12 \times 14 = 168 \quad 13 \times 14 = 182 \quad 5 \times 14 = 70$$

$$10 \times 14 = |140|$$
  $1 \times 14 = |14|$   $8 \times 14 = |112|$   $11 \times 14 = |154|$ 

$$8 \times 14 = \begin{bmatrix} 112 \end{bmatrix}$$
  $8 \times 14 = \begin{bmatrix} 112 \end{bmatrix}$   $9 \times 14 = \begin{bmatrix} 126 \end{bmatrix}$   $3 \times 14 = \begin{bmatrix} 42 \end{bmatrix}$ 

$$1 \times 14 = 14$$
  $3 \times 14 = 42$   $6 \times 14 = 84$   $9 \times 14 = 126$ 

$$7 \times 14 = 98$$
  $2 \times 14 = 28$   $12 \times 14 = 168$   $4 \times 14 = 56$ 

$$9 \times 14 = 126$$
  $1 \times 14 = 14$   $5 \times 14 = 70$   $6 \times 14 = 84$ 

$$11 \times 14 = | 154 | 3 \times 14 = | 42 | 7 \times 14 = | 98 | 8 \times 14 = | 112$$

$$4 \times 14 = 56$$
  $8 \times 14 = 112$   $1 \times 14 = 14$   $2 \times 14 = 28$ 

$$14 \times 14 = | 196 | 7 \times 14 = | 98 | 8 \times 14 = | 112 | 12 \times 14 = | 168$$

$$3 \times 14 = \boxed{42} \quad 9 \times 14 = \boxed{126} \quad 14 \times 14 = \boxed{196} \quad 7 \times 14 = \boxed{98}$$

$$13 \times 14 = \boxed{182} \ 11 \times 14 = \boxed{154} \ 9 \times 14 = \boxed{126} \ 10 \times 14 = \boxed{140}$$

$$2 \times 14 = | 28 | 4 \times 14 = | 56 | 11 \times 14 = | 154 | 12 \times 14 = | 168$$

3 F 1.9	1 •	1	- 4 /	<b>T</b>
Multi	nlvin	$\sigma$ hw	14(	1))
IVIUIU	ртутт	SUY	т-т (	رىد

Dat	te:	Score:
Calcula	te each product.	
13 × 14 =	$9 \times 14 =$	$10 \times 14 = \square$
14 × 14 =	$10 \times 14 = \square$	6 × 14 =
$10 \times 14 = \square$	$4 \times 14 =$	$4 \times 14 =$
$10 \times 14 =$	$7 \times 14 =$	8 × 14 =
$2 \times 14 =$	$2 \times 14 =$	5 × 14 =
9 × 14 =	$8 \times 14 =$	11 × 14 =
$14 \times 14 =$	$2 \times 14 =$	$3 \times 14 =$
$1 \times 14 =$	$6 \times 14 =$	$12 \times 14 = \square$
$11 \times 14 =$	$11 \times 14 =$	9 × 14 =
8 × 14 =	$8 \times 14 =$	9 × 14 =
$12 \times 14 =$	$5 \times 14 =$	$10 \times 14 = \square$
13 × 14 =	$14 \times 14 = \square$	$7 \times 14 =$
$6 \times 14 =$	$7 \times 14 =$	11 × 14 =
$5 \times 14 =$	$13 \times 14 = \boxed{}$	$2 \times 14 =$
$4 \times 14 =$	$3 \times 14 =$	13 × 14 =
$7 \times 14 =$	$12 \times 14 = $	$6 \times 14 =$
$3 \times 14 =$	$4 \times 14 =$	$14 \times 14 = \square$
11 × 14 =	$10 \times 14 =$	$12 \times 14 = \square$
$5 \times 14 =$	$9 \times 14 =$	$1 \times 14 =$
$13 \times 14 =$	$1 \times 14 =$	$5 \times 14 =$
$14 \times 14 =$	$7 \times 14 =$	$4 \times 14 =$
$6 \times 14 =$	$1 \times 14 =$	$3 \times 14 =$
$1 \times 14 =$	$13 \times 14 = \square$	8 × 14 =
$3 \times 14 =$	$14 \times 14 = \square$	6 × 14 =
12 × 14 =	$2 \times 14 =$	$4 \times 14 = \square$
	Calcula $13 \times 14 =$ $14 \times 14 =$ $10 \times 14 =$ $10 \times 14 =$ $2 \times 14 =$ $9 \times 14 =$ $14 \times 14 =$ $11 \times 14 =$ $11 \times 14 =$ $13 \times 14 =$ $13 \times 14 =$ $14 \times 14 =$ $11 \times 14 =$	$     \begin{array}{ccccccccccccccccccccccccccccccccc$

# Multiplying by 14 (D) Answers

Name:	Date:	Score:

#### Calculate each product.

$$12 \times 14 = 168$$
  $13 \times 14 = 182$   $9 \times 14 = 126$   $10 \times 14 = 140$   $14 \times 14 = 196$   $14 \times 14 = 196$   $10 \times 14 = 140$   $6 \times 14 = 84$   $13 \times 14 = 182$   $10 \times 14 = 140$   $4 \times 14 = 56$   $4 \times 14 = 56$ 

$$1 \times 14 = \boxed{14} \quad 10 \times 14 = \boxed{140} \quad 7 \times 14 = \boxed{98} \quad 8 \times 14 = \boxed{112}$$

$$6 \times 14 = \boxed{84}$$
  $2 \times 14 = \boxed{28}$   $2 \times 14 = \boxed{28}$   $5 \times 14 = \boxed{70}$ 

$$11 \times 14 = \boxed{154}$$
  $9 \times 14 = \boxed{126}$   $8 \times 14 = \boxed{112}$   $11 \times 14 = \boxed{154}$ 

$$7 \times 14 = 98$$
  $14 \times 14 = 196$   $2 \times 14 = 28$   $3 \times 14 = 42$   $4 \times 14 = 56$   $1 \times 14 = 14$   $6 \times 14 = 84$   $12 \times 14 = 168$ 

$$10 \times 14 = \boxed{140} \quad 11 \times 14 = \boxed{154} \quad 11 \times 14 = \boxed{154} \quad 9 \times 14 = \boxed{126}$$

$$9 \times 14 = 126$$
  $8 \times 14 = 112$   $8 \times 14 = 112$   $9 \times 14 = 126$ 

$$3 \times 14 = \boxed{42} \quad 12 \times 14 = \boxed{168} \quad 5 \times 14 = \boxed{70} \quad 10 \times 14 = \boxed{140}$$

$$8 \times 14 = \boxed{112} \ 13 \times 14 = \boxed{182} \ 14 \times 14 = \boxed{196} \ 7 \times 14 = \boxed{98}$$

$$5 \times 14 = 70$$
  $6 \times 14 = 84$   $7 \times 14 = 98$   $11 \times 14 = 154$ 

$$2 \times 14 = 28$$
  $5 \times 14 = 70$   $13 \times 14 = 182$   $2 \times 14 = 28$ 

$$5 \times 14 = 70$$
  $4 \times 14 = 56$   $3 \times 14 = 42$   $13 \times 14 = 182$ 

$$12 \times 14 = 168$$
  $7 \times 14 = 98$   $12 \times 14 = 168$   $6 \times 14 = 84$ 

$$6 \times 14 = 84$$
  $3 \times 14 = 42$   $4 \times 14 = 56$   $14 \times 14 = 196$ 

$$8 \times 14 = | 112 | 11 \times 14 = | 154 | 10 \times 14 = | 140 | 12 \times 14 = | 168$$

$$3 \times 14 = \boxed{42} \quad 5 \times 14 = \boxed{70} \quad 9 \times 14 = \boxed{126} \quad 1 \times 14 = \boxed{14}$$

$$11 \times 14 = |154| 13 \times 14 = |182| 1 \times 14 = |14| 5 \times 14 = |70|$$

$$4 \times 14 = \boxed{56}$$
  $14 \times 14 = \boxed{196}$   $7 \times 14 = \boxed{98}$   $4 \times 14 = \boxed{56}$ 

$$1 \times 14 = \boxed{14}$$
  $6 \times 14 = \boxed{84}$   $1 \times 14 = \boxed{14}$   $3 \times 14 = \boxed{42}$ 

$$2 \times 14 = 28$$
  $1 \times 14 = 14$   $13 \times 14 = 182$   $8 \times 14 = 112$ 

$$7 \times 14 = 98$$
  $3 \times 14 = 42$   $14 \times 14 = 196$   $6 \times 14 = 84$ 

$$9 \times 14 = |126| 12 \times 14 = |168| 2 \times 14 = |28| 4 \times 14 = |56|$$

Mul	[tip]	lying	bv	14	(E)
111 (1)	up	2112	Uy	T	$(\mathbf{L}_{j})$

Name:	Dat	e:	Score:
	Calcula	te each product.	
$10 \times 14 = $	$10 \times 14 =$	$14 \times 14 =$	14 × 14 =
$6 \times 14 =$	14 × 14 =	$8 \times 14 =$	$2 \times 14 =$
$7 \times 14 =$	$5 \times 14 =$	$5 \times 14 =$	9 × 14 =
$1 \times 14 =$	$3 \times 14 =$	$11 \times 14 =$	$7 \times 14 = \square$
$4 \times 14 =$	$5 \times 14 =$	$3 \times 14 =$	$1 \times 14 = \square$
$13 \times 14 = \boxed{}$	$14 \times 14 = \square$	$12 \times 14 = \boxed{}$	6 × 14 =
$12 \times 14 = \boxed{}$	$4 \times 14 =$	$9 \times 14 =$	$4 \times 14 = \square$
$5 \times 14 =$	$10 \times 14 = \square$	$2 \times 14 =$	$8 \times 14 = \square$
$8 \times 14 =$	6 × 14 =	$13 \times 14 = \square$	$12 \times 14 = \square$
$14 \times 14 = \boxed{}$	9 × 14 =	$14 \times 14 = \square$	$7 \times 14 = \square$
$9 \times 14 =$	$13 \times 14 = \square$	$7 \times 14 =$	$14 \times 14 = \square$
$3 \times 14 =$	$2 \times 14 =$	$3 \times 14 =$	6 × 14 =
$11 \times 14 = $	$12 \times 14 = \square$	$4 \times 14 =$	$2 \times 14 = \square$
$2 \times 14 =$	$7 \times 14 =$	$6 \times 14 =$	11 × 14 =
$12 \times 14 = \boxed{}$	8 × 14 =	$5 \times 14 =$	13 × 14 =
$3 \times 14 =$	1 × 14 =	$11 \times 14 = \square$	8 × 14 =
$8 \times 14 =$	11 × 14 =	$12 \times 14 = \square$	$5 \times 14 = \square$
$2 \times 14 =$	6 × 14 =	$8 \times 14 =$	4 × 14 =
$4 \times 14 =$	1 × 14 =	$1 \times 14 =$	1 × 14 =
$13 \times 14 = \boxed{}$	4 × 14 =	$10 \times 14 = \square$	$3 \times 14 = \square$
$6 \times 14 =$	$10 \times 14 = \square$	$3 \times 14 =$	$9 \times 14 = \square$
$9 \times 14 =$	$13 \times 14 = $	$5 \times 14 =$	$10 \times 14 = \square$
$1 \times 14 =$	$7 \times 14 =$	$10 \times 14 = \square$	$12 \times 14 = \square$
$11 \times 14 = $	9 × 14 =	$13 \times 14 = \square$	$9 \times 14 = \square$
$7 \times 14 =$	$2 \times 14 =$	$11 \times 14 = \square$	$7 \times 14 =$

# Multiplying by 14 (E) Answers

Name: Date: Score:
Name: Date: Score:

#### Calculate each product.

 $11 \times 14 =$ 

154

 $7 \times 14 =$ 

98

28

 $7 \times 14 =$ 

98

Mul	tip	lying	bv	14	(F)
IVIUI	LIP	191118	Uy	T-1	(・

Da	ite:	Score:
Calcul	ate each product.	
$8 \times 14 =$	$12 \times 14 = \square$	$2 \times 14 =$
$14 \times 14 = \square$	$3 \times 14 =$	$4 \times 14 =$
13 × 14 =	14 × 14 =	$14 \times 14 = \square$
$13 \times 14 = \boxed{}$	$10 \times 14 = \square$	$6 \times 14 = \square$
$3 \times 14 =$	$8 \times 14 =$	$8 \times 14 =$
$4 \times 14 =$	$7 \times 14 =$	$3 \times 14 =$
$9 \times 14 =$	9 × 14 =	$12 \times 14 = \square$
$1 \times 14 =$	$3 \times 14 =$	$1 \times 14 =$
$12 \times 14 = \square$	14 × 14 =	9 × 14 =
$14 \times 14 = \square$	$10 \times 14 = \square$	13 × 14 =
$7 \times 14 =$	$2 \times 14 = \square$	9 × 14 =
$10 \times 14 = \square$	$12 \times 14 =$	$8 \times 14 =$
$2 \times 14 =$	13 × 14 =	$10 \times 14 = \square$
$11 \times 14 =$	5 × 14 =	$5 \times 14 =$
$5 \times 14 =$	6 × 14 =	$6 \times 14 =$
$8 \times 14 =$	$4 \times 14 =$	$11 \times 14 = \square$
$6 \times 14 =$	8 × 14 =	$14 \times 14 = \square$
$9 \times 14 =$	1 × 14 =	$1 \times 14 =$
$5 \times 14 =$	11 × 14 =	$12 \times 14 = \square$
$13 \times 14 = \square$	$7 \times 14 =$	$3 \times 14 =$
$1 \times 14 =$	11 × 14 =	$4 \times 14 =$
$6 \times 14 =$	$7 \times 14 =$	$7 \times 14 =$
$4 \times 14 =$	$5 \times 14 =$	$2 \times 14 = \square$
$11 \times 14 = \square$	13 × 14 =	3 × 14 =
$2 \times 14 =$	$10 \times 14 =$	11 × 14 =
	Calcul $8 \times 14 =$ $14 \times 14 =$ $13 \times 14 =$ $13 \times 14 =$ $3 \times 14 =$ $4 \times 14 =$ $9 \times 14 =$ $12 \times 14 =$ $14 \times 14 =$ $10 \times 14 =$ $11 \times 14 =$ $5 \times 14 =$ $11 \times 14 =$ $5 \times 14 =$ $13 \times 14 =$ $13 \times 14 =$ $11 \times 14 =$	$     \begin{array}{ccccccccccccccccccccccccccccccccc$

# Multiplying by 14 (F) Answers

Name:	Date:	Score:
	Calculate each product.	
$2 \times 14 - 28$	$8 \times 14 - 112  12 \times 14 = 168$	$2 \times 14 - \boxed{28}$

 $11 \times 14 =$ 

154

140

28

Multi	plying	by	14 (	(G)
			,	· - /

Name:	Da	te:	Score:
	Calcula	ate each product.	
$9 \times 14 = \square$	$9 \times 14 =$	$10 \times 14 = \square$	5 × 14 =
$13 \times 14 = \square$	$7 \times 14 =$	$14 \times 14 = \square$	$9 \times 14 =$
$3 \times 14 =$	$2 \times 14 =$	$6 \times 14 =$	$1 \times 14 =$
$5 \times 14 =$	$5 \times 14 =$	$2 \times 14 =$	$3 \times 14 =$
$7 \times 14 =$	$8 \times 14 =$	$4 \times 14 =$	$4 \times 14 =$
$11 \times 14 = \square$	$7 \times 14 =$	9 × 14 =	$12 \times 14 = \square$
$10 \times 14 = \square$	$13 \times 14 = \square$	$6 \times 14 =$	$6 \times 14 =$
$2 \times 14 =$	$9 \times 14 =$	$8 \times 14 =$	$10 \times 14 = \square$
$12 \times 14 = \square$	$14 \times 14 = \square$	$9 \times 14 =$	$7 \times 14 =$
$14 \times 14 = \boxed{}$	$1 \times 14 =$	$1 \times 14 =$	$12 \times 14 = \square$
$6 \times 14 =$	$3 \times 14 =$	$11 \times 14 =$	$9 \times 14 = \square$
$1 \times 14 =$	$6 \times 14 =$	$3 \times 14 =$	$5 \times 14 =$
$4 \times 14 =$	$10 \times 14 = \boxed{}$	$5 \times 14 =$	$11 \times 14 = \square$
$8 \times 14 =$	$2 \times 14 =$	$13 \times 14 = \boxed{}$	$13 \times 14 = \square$
$3 \times 14 =$	$11 \times 14 = \boxed{}$	$10 \times 14 =$	$8 \times 14 =$
$13 \times 14 = \square$	$4 \times 14 =$	$14 \times 14 = \boxed{}$	$1 \times 14 =$
$6 \times 14 =$	$12 \times 14 = \boxed{}$	$12 \times 14 = \boxed{}$	$3 \times 14 =$
$10 \times 14 = \boxed{}$	$11 \times 14 = \square$	$7 \times 14 =$	$4 \times 14 = \square$
$5 \times 14 =$	$12 \times 14 = \square$	$4 \times 14 =$	$2 \times 14 = \square$
$12 \times 14 = \square$	$13 \times 14 = \square$	$2 \times 14 =$	$10 \times 14 = \square$
$4 \times 14 =$	$8 \times 14 =$	$13 \times 14 = \boxed{}$	$7 \times 14 =$
$14 \times 14 = \boxed{}$	$7 \times 14 =$	$8 \times 14 =$	$14 \times 14 = \square$
$1 \times 14 =$	$5 \times 14 =$	$11 \times 14 =$	$6 \times 14 =$
$8 \times 14 =$	$3 \times 14 =$	$14 \times 14 = \square$	$2 \times 14 = \square$
$11 \times 14 = \boxed{}$	$1 \times 14 =$	$2 \times 14 = \square$	13 × 14 =

# Multiplying by 14 (G) Answers

Name:	Date:	Score:

#### Calculate each product.

$$9 \times 14 = 126$$
  $9 \times 14 = 126$   $10 \times 14 = 140$   $5 \times 14 = 70$   $13 \times 14 = 182$   $7 \times 14 = 98$   $14 \times 14 = 196$   $9 \times 14 = 126$   $3 \times 14 = 42$   $2 \times 14 = 28$   $6 \times 14 = 84$   $1 \times 14 = 14$   $5 \times 14 = 70$   $5 \times 14 = 70$   $2 \times 14 = 28$   $3 \times 14 = 42$   $7 \times 14 = 98$   $8 \times 14 = 112$   $4 \times 14 = 56$   $4 \times 14 = 56$   $11 \times 14 = 154$   $7 \times 14 = 98$   $9 \times 14 = 126$   $12 \times 14 = 168$   $10 \times 14 = 140$   $13 \times 14 = 182$   $6 \times 14 = 84$   $6 \times 14 = 84$   $2 \times 14 = 28$   $9 \times 14 = 126$   $8 \times 14 = 112$   $10 \times 14 = 140$   $12 \times 14 = 168$   $14 \times 14 = 196$   $14 \times 14 = 14$   $15 \times 14 = 15$   $15 \times 14$ 

196

98

 $7 \times 14 =$ 

$$8 \times 14 = \boxed{112}$$
  $3 \times 14 = \boxed{42}$   $14 \times 14 = \boxed{196}$   $2 \times 14 = \boxed{28}$ 

$$11 \times 14 = 154$$
  $1 \times 14 = 14$   $2 \times 14 = 28$   $13 \times 14 = 182$ 

Multi	plving	bv	14 (	(H)
	P - / D	· • · · ·	,	(ーー/

Name:	Dat	re:	Score:
	Calcula	te each product.	
$1 \times 14 =$	13 × 14 =	$7 \times 14 =$	$7 \times 14 =$
$2 \times 14 =$	$8 \times 14 =$	$3 \times 14 =$	$1 \times 14 = \square$
$12 \times 14 = \boxed{}$	11 × 14 =	$13 \times 14 = \square$	$4 \times 14 =$
$4 \times 14 =$	$2 \times 14 =$	$10 \times 14 = \square$	8 × 14 =
$5 \times 14 =$	$12 \times 14 = \square$	$12 \times 14 = \square$	$3 \times 14 =$
$8 \times 14 =$	3 × 14 =	$6 \times 14 =$	$12 \times 14 = \square$
$6 \times 14 =$	13 × 14 =	$7 \times 14 =$	6 × 14 =
$3 \times 14 =$	$7 \times 14 =$	$12 \times 14 = \square$	13 × 14 =
$14 \times 14 = \square$	$4 \times 14 =$	$4 \times 14 =$	$10 \times 14 = \square$
$7 \times 14 =$	$10 \times 14 = \boxed{}$	$2 \times 14 =$	$4 \times 14 =$
$10 \times 14 = \boxed{}$	8 × 14 =	$1 \times 14 =$	$10 \times 14 = \square$
$9 \times 14 =$	6 × 14 =	$8 \times 14 =$	13 × 14 =
$11 \times 14 = $	1 × 14 =	$3 \times 14 =$	9 × 14 =
$13 \times 14 = \square$	9 × 14 =	$5 \times 14 =$	$12 \times 14 = \square$
$14 \times 14 = \square$	11 × 14 =	$11 \times 14 = \square$	$14 \times 14 = \square$
$3 \times 14 =$	14 × 14 =	$13 \times 14 = \square$	11 × 14 =
$9 \times 14 =$	$5 \times 14 =$	$10 \times 14 = \square$	$7 \times 14 =$
$12 \times 14 = \square$	11 × 14 =	$9 \times 14 =$	$2 \times 14 =$
$4 \times 14 =$	$4 \times 14 =$	$14 \times 14 = \square$	$8 \times 14 =$
$7 \times 14 =$	8 × 14 =	$6 \times 14 =$	$3 \times 14 =$
$2 \times 14 =$	14 × 14 =	$2 \times 14 =$	$1 \times 14 =$
$5 \times 14 = $	$1 \times 14 =$	$9 \times 14 =$	$5 \times 14 = \square$
$1 \times 14 = $	9 × 14 =	$14 \times 14 = \square$	6 × 14 =
$10 \times 14 = \square$	$2 \times 14 =$	$11 \times 14 = \square$	11 × 14 =
$6 \times 14 =$	$5 \times 14 =$	$5 \times 14 =$	$6 \times 14 =$

# Multiplying by 14 (H) Answers

Name:	Date:	Score:
-		

#### Calculate each product.

$$1 \times 14 = 14$$
  $13 \times 14 = 182$   $7 \times 14 = 98$   $7 \times 14 = 98$   
 $2 \times 14 = 28$   $8 \times 14 = 112$   $3 \times 14 = 42$   $1 \times 14 = 14$   
 $12 \times 14 = 168$   $11 \times 14 = 154$   $13 \times 14 = 182$   $4 \times 14 = 56$   
 $4 \times 14 = 56$   $2 \times 14 = 28$   $10 \times 14 = 140$   $8 \times 14 = 112$ 

$$5 \times 14 = \begin{bmatrix} 70 \\ 12 \times 14 = \\ 168 \\ 3 \times 14 = \\ 42 \\ 6 \times 14 = \begin{bmatrix} 168 \\ 3 \times 14 = \\ 42 \\ 6 \times 14 = \\ 84 \\ 12 \times 14 = \\ 168 \\ 1$$

$$6 \times 14 = 84 \quad 13 \times 14 = 182 \quad 7 \times 14 = 98 \quad 6 \times 14 = 84$$

$$3 \times 14 = \boxed{42}$$
  $7 \times 14 = \boxed{98}$   $12 \times 14 = \boxed{168}$   $13 \times 14 = \boxed{182}$ 

$$7 \times 14 = \boxed{98} \quad 10 \times 14 = \boxed{140} \quad 2 \times 14 = \boxed{28} \quad 4 \times 14 = \boxed{56}$$

$$10 \times 14 = \boxed{140}$$
  $8 \times 14 = \boxed{112}$   $1 \times 14 = \boxed{14}$   $10 \times 14 = \boxed{140}$ 

$$9 \times 14 = \begin{bmatrix} 126 \\ 6 \times 14 = \begin{bmatrix} 84 \\ 8 \times 14 = \end{bmatrix} \quad 112 \quad 13 \times 14 = \begin{bmatrix} 182 \\ 182 \end{bmatrix}$$

$$11 \times 14 = |154|$$
  $1 \times 14 = |14|$   $3 \times 14 = |42|$   $9 \times 14 = |126|$ 

$$13 \times 14 = \boxed{182} \quad 9 \times 14 = \boxed{126} \quad 5 \times 14 = \boxed{70} \quad 12 \times 14 = \boxed{168}$$

$$14 \times 14 = \boxed{196} \quad 11 \times 14 = \boxed{154} \quad 11 \times 14 = \boxed{154} \quad 14 \times 14 = \boxed{196}$$

$$3 \times 14 = \boxed{42} \quad 14 \times 14 = \boxed{196} \quad 13 \times 14 = \boxed{182} \quad 11 \times 14 = \boxed{154}$$

$$9 \times 14 = \boxed{126}$$
  $5 \times 14 = \boxed{70}$   $10 \times 14 = \boxed{140}$   $7 \times 14 = \boxed{98}$ 

$$12 \times 14 = \boxed{168} \ 11 \times 14 = \boxed{154} \ 9 \times 14 = \boxed{126} \ 2 \times 14 = \boxed{28}$$

$$4 \times 14 = 56$$
  $4 \times 14 = 56$   $14 \times 14 = 196$   $8 \times 14 = 112$ 

$$7 \times 14 = 98 8 \times 14 = 112 6 \times 14 = 84 3 \times 14 = 42$$

$$2 \times 14 = 28$$
  $14 \times 14 = 196$   $2 \times 14 = 28$   $1 \times 14 = 14$ 

$$5 \times 14 = 70$$
  $1 \times 14 = 14$   $9 \times 14 = 126$   $5 \times 14 = 70$ 

$$1 \times 14 = | 14 | 9 \times 14 = | 126 | 14 \times 14 = | 196 | 6 \times 14 = | 84$$

$$10 \times 14 = 140$$
  $2 \times 14 = 28$   $11 \times 14 = 154$   $11 \times 14 = 154$ 

$$6 \times 14 = | 84 | 5 \times 14 = | 70 | 5 \times 14 = | 70 | 6 \times 14 = | 84$$

Mul	ltinl	lying	hv	14	(I)
MI	ւսբյ	lymg	Uy	T	(エノ

Name:		Date:	Score:
	Ca	lculate each product.	
$2 \times 14 = $	$10 \times 14 =$	$2 \times 14 = \begin{bmatrix} 1 & 1 & 1 \\ 1 & 1 & 1 \end{bmatrix}$	13 × 14 =
$6 \times 14 = $	$7 \times 14 =$	$8 \times 14 =$	$2 \times 14 = \square$
$9 \times 14 = $	$9 \times 14 =$	$6 \times 14 = $	$6 \times 14 =$
$11 \times 14 = $	$11 \times 14 =$	$1 \times 14 = $	9 × 14 =
$4 \times 14 = $	$10 \times 14 =$	$7 \times 14 =$	$4 \times 14 =$
$14 \times 14 = \left[\right.$	$2 \times 14 =$	$3 \times 14 = $	$12 \times 14 = \square$
$1 \times 14 = $	$4 \times 14 =$	$9 \times 14 =$	$7 \times 14 =$
$8 \times 14 = $	$13 \times 14 =$	$3 \times 14 =$	14 × 14 =
$10 \times 14 = \left[\right.$	$12 \times 14 =$	$12 \times 14 =$	$10 \times 14 = \square$
$3 \times 14 = $	$5 \times 14 =$	$1 \times 14 = $	$5 \times 14 =$
$12 \times 14 = \left[\right.$	$8 \times 14 =$	$7 \times 14 =$	$7 \times 14 =$
$7 \times 14 = $	$9 \times 14 =$	$14 \times 14 =$	$4 \times 14 =$
$13 \times 14 = \left[\right.$	$14 \times 14 =$	$8 \times 14 =$	$10 \times 14 = \square$
$5 \times 14 = $	$3 \times 14 =$	$2 \times 14 =$	9 × 14 =
$6 \times 14 =$	$1 \times 14 =$	$10 \times 14 =$	$12 \times 14 = \square$
$4 \times 14 =$	$6 \times 14 =$	$4 \times 14 =$	$1 \times 14 =$
$12 \times 14 = \left[\right.$	$7 \times 14 =$	$6 \times 14 =$	$3 \times 14 =$
$13 \times 14 = \left[\right]$	$13 \times 14 =$	$11 \times 14 =$	6 × 14 =
$8 \times 14 =$	$12 \times 14 =$	$13 \times 14 =$	8 × 14 =
$11 \times 14 = \left[\right.$	$10 \times 14 =$	$5 \times 14 =$	$14 \times 14 = \square$
$1 \times 14 =$	$11 \times 14 =$	$3 \times 14 =$	$2 \times 14 =$
$3 \times 14 = $	$4 \times 14 =$	$1 \times 14 =$	11 × 14 =
$2 \times 14 = $	$5 \times 14 =$	$11 \times 14 =$	13 × 14 =
$5 \times 14 = $	$9 \times 14 =$	$5 \times 14 =$	8 × 14 =
$14 \times 14 = \left[\right]$	14 × 14 =	8 × 14 =	13 × 14 =

# Multiplying by 14 (I) Answers

Name: Date: Score:
Name: Date: Score:

#### Calculate each product.

$$2 \times 14 = 28 \quad 10 \times 14 = 140 \quad 2 \times 14 = 28 \quad 13 \times 14 = 182$$

$$6 \times 14 = 84 \quad 7 \times 14 = 98 \quad 8 \times 14 = 112 \quad 2 \times 14 = 28$$

$$9 \times 14 = 126 \quad 9 \times 14 = 126 \quad 6 \times 14 = 84 \quad 6 \times 14 = 84$$

$$11 \times 14 = 154 \quad 11 \times 14 = 154 \quad 1 \times 14 = 14 \quad 9 \times 14 = 126$$

$$4 \times 14 = 56 \quad 10 \times 14 = 140 \quad 7 \times 14 = 98 \quad 4 \times 14 = 56$$

$$14 \times 14 = 196 \quad 2 \times 14 = 28 \quad 3 \times 14 = 42 \quad 12 \times 14 = 168$$

$$1 \times 14 = 14 \quad 4 \times 14 = 56 \quad 9 \times 14 = 126 \quad 7 \times 14 = 98$$

$$8 \times 14 = 112 \quad 13 \times 14 = 182 \quad 3 \times 14 = 42 \quad 14 \times 14 = 196$$

$$10 \times 14 = 140 \quad 12 \times 14 = 168 \quad 12 \times 14 = 168 \quad 10 \times 14 = 140$$

$$3 \times 14 = 42 \quad 5 \times 14 = 70 \quad 1 \times 14 = 14 \quad 5 \times 14 = 70$$

$$12 \times 14 = 168 \quad 8 \times 14 = 112 \quad 7 \times 14 = 98 \quad 7 \times 14 = 98$$

$$7 \times 14 = 98 \quad 9 \times 14 = 126 \quad 14 \times 14 = 196 \quad 4 \times 14 = 56$$

$$13 \times 14 = 182 \quad 14 \times 14 = 196 \quad 8 \times 14 = 112 \quad 10 \times 14 = 140$$

$$5 \times 14 = 70 \quad 3 \times 14 = 42 \quad 2 \times 14 = 28 \quad 9 \times 14 = 126$$

$$6 \times 14 = 84 \quad 1 \times 14 = 14 \quad 10 \times 14 = 140 \quad 12 \times 14 = 168$$

$$4 \times 14 = 56 \quad 6 \times 14 = 84 \quad 4 \times 14 = 56 \quad 1 \times 14 = 14$$

$$12 \times 14 = 168 \quad 7 \times 14 = 98 \quad 6 \times 14 = 84 \quad 3 \times 14 = 42$$

$$13 \times 14 = 182 \quad 13 \times 14 = 182 \quad 11 \times 14 = 154 \quad 6 \times 14 = 84$$

$$8 \times 14 = \boxed{112}$$
  $12 \times 14 = \boxed{168}$   $13 \times 14 = \boxed{182}$   $8 \times 14 = \boxed{112}$ 

$$11 \times 14 = \boxed{154} \quad 10 \times 14 = \boxed{140} \quad 5 \times 14 = \boxed{70} \quad 14 \times 14 = \boxed{196}$$

112

$$1 \times 14 = \boxed{14}$$
  $11 \times 14 = \boxed{154}$   $3 \times 14 = \boxed{42}$   $2 \times 14 = \boxed{28}$ 

$$3 \times 14 = \boxed{42}$$
  $4 \times 14 = \boxed{56}$   $1 \times 14 = \boxed{14}$   $11 \times 14 = \boxed{154}$ 

$$2 \times 14 = 28$$
  $5 \times 14 = 70$   $11 \times 14 = 154$   $13 \times 14 = 182$ 

$$5 \times 14 =$$
  $\boxed{70}$   $9 \times 14 =$   $\boxed{126}$   $5 \times 14 =$   $\boxed{70}$   $8 \times 14 =$   $\boxed{112}$ 

$$14 \times 14 = 196 \quad 14 \times 14 = 196 \quad 8 \times 14 = 112 \quad 13 \times 14 = 182$$

M111	tin	lying	hv	14	(I)
wu	աթ	ıyınıg	Uy	14	$(\mathbf{J})$

Name:	Da	ate:	Score:
	Calcul	ate each product.	
$8 \times 14 =$	$5 \times 14 =$	$12 \times 14 = \boxed{}$	8 × 14 =
$12 \times 14 = \square$	$3 \times 14 =$	$1 \times 14 =$	$10 \times 14 = \square$
$14 \times 14 = \square$	$1 \times 14 =$	$8 \times 14 =$	5 × 14 =
$3 \times 14 =$	$8 \times 14 =$	$4 \times 14 =$	11 × 14 =
$10 \times 14 = \square$	$4 \times 14 =$	$3 \times 14 =$	$2 \times 14 = \square$
$11 \times 14 = $	$13 \times 14 = \square$	$14 \times 14 = \boxed{}$	14 × 14 =
$13 \times 14 = \boxed{}$	$1 \times 14 =$	11 × 14 =	1 × 14 =
$7 \times 14 =$	$3 \times 14 =$	$7 \times 14 =$	13 × 14 =
$1 \times 14 =$	$2 \times 14 =$	$4 \times 14 =$	$7 \times 14 = \square$
$6 \times 14 =$	$9 \times 14 = \square$	$2 \times 14 =$	$5 \times 14 = \square$
$9 \times 14 =$	$5 \times 14 =$	$13 \times 14 = \square$	$2 \times 14 = \square$
$2 \times 14 =$	$14 \times 14 = \square$	$1 \times 14 =$	13 × 14 =
$4 \times 14 =$	$12 \times 14 = \square$	9 × 14 =	$12 \times 14 = \square$
$5 \times 14 =$	$11 \times 14 = \square$	$14 \times 14 = \square$	14 × 14 =
$12 \times 14 = \square$	$7 \times 14 =$	$8 \times 14 =$	8 × 14 =
$2 \times 14 =$	$6 \times 14 =$	$10 \times 14 = \square$	$4 \times 14 =$
$10 \times 14 = \square$	$10 \times 14 = \square$	$5 \times 14 =$	9 × 14 =
$9 \times 14 =$	$11 \times 14 = \square$	$3 \times 14 =$	6 × 14 =
$11 \times 14 =$	$13 \times 14 = \square$	6 × 14 =	11 × 14 =
$7 \times 14 =$	$5 \times 14 =$	$12 \times 14 = \square$	1 × 14 =
$4 \times 14 =$	$6 \times 14 =$	$4 \times 14 =$	$7 \times 14 =$
$13 \times 14 = \square$	$2 \times 14 =$	$12 \times 14 = \boxed{}$	$10 \times 14 =$
$8 \times 14 =$	9 × 14 =	6 × 14 =	3 × 14 =
$14 \times 14 = \square$	$7 \times 14 =$	9 × 14 =	9 × 14 =
$6 \times 14 =$	10 × 14 =	3 × 14 =	4 × 14 =

# Multiplying by 14 (J) Answers

Name:	Date:	Score:

#### Calculate each product.

98

 $14 \times 14 =$ 

196

 $7 \times 14 =$ 

 $9 \times 14 =$ 

126

126